



































Random Network  

$$\frac{\partial k_i}{\partial t} = m\Pi(k_i) = \frac{m}{m_0 + t - 1}$$

$$k_i = m(\ln(m_0 + t - 1) - \ln(m_0 + t_i - 1) + 1)$$



**Random Network**  
The probability that vertex *i* has connectivity 
$$k_i(t)$$
 smaller than *k* is  
$$P(k) = \frac{e}{m} \exp\left(-\frac{k}{m}\right)$$



## **Master Equation Approach**

Here  $W_{k'\to k}$  denotes the probability of changing from state k' to state k. In our model this probability is obviously

$$W_{k' \to k} = \frac{k'}{2t} \delta_{k',k-1} \qquad \text{, where} \quad \delta_{i,j} = \begin{cases} 1 & i=j\\ 0 & \text{otherwise} \end{cases}$$
(13.7)

is the Kronecker symbol.



## **Master Equation Approach**

There is now a t' so that for every time t greater than t' we get the stationary distribution,  $\tilde{P}(k)$ . This results in the recursive equation  $\tilde{P}(k) = \frac{k-1}{k+2}\tilde{P}(k-1)$  for  $k \ge m+1$ . For the case k = m the probability directly results from the scaling condition of the probability measure:  $\tilde{P}(m) = \frac{2}{m+2}$ .

This directly yields the power law of the form  $\Pr[k] = \frac{2m(m+1)}{k(k+1)(k+2)}$  which converges to the value of the power law found using the continuum theory,  $2m^2\gamma^{-3}$ .







**Master Equation Approach**  

$$\partial_t P(\sigma, t) = \sum_{\sigma'} [P(\sigma', t)W(\sigma' \to \sigma) - P(\sigma, t)W(\sigma \to \sigma')]$$
  
 $W(\sigma' \to \sigma)$ : Transition rate from one state to another  
If the change of state of node *i* is determined only by the local  
interaction with the nodes directly connected to it and the local  
dynamics have the same parameters for all nodes, the transition  
rates can be simplified and read  
 $W(\sigma' \to \sigma) = \prod_i W(\sigma'_i \to \sigma_i \mid \sigma_j)$   
 $j \in V(i)$  *j* is a neighbor of *i*



**Master Equation Approach**  

$$\partial_t P(\sigma, t) = \sum_{\sigma'} [P(\sigma', t)W(\sigma' \to \sigma) - P(\sigma, t)W(\sigma \to \sigma')]$$
  
Given any function of the state of the system A( $\sigma$ ), it is possible to compute its average value at time t as  
 $\langle A(t) \rangle = \sum_{\sigma} A(\sigma)P(\sigma, t)$ 







Master Equation Approach  

$$\sum_{\sigma'} \sum_{k} w(\sigma_{k} \to \sigma_{k} \mid \sigma_{j}) = 1$$

$$\sum_{\sigma} \delta_{\sigma_{i},B} \prod_{k} w(\sigma_{k} \to \sigma_{k} \mid \sigma_{j}) = w(\sigma_{i} \to \sigma_{i} = B \mid \sigma_{j})$$
We have  

$$\partial_{t} N_{B}(t) = \sum_{\sigma} \sum_{i} \delta_{\sigma_{i},B} \partial_{t} P(\sigma, t)$$

$$= \sum_{i} \sum_{\sigma'} \left[ \prod_{k} w(\sigma_{i} \to \sigma_{i} = B \mid \sigma_{j}) P(\sigma', t) \right] - N_{B}(t)$$





